TRAFERE 4 FmRiags GEF) W CICRE A

=
SRMAHE6H 9RMND
SFAHE6A28HET } 2 O
Sk AR
H | BEH | & & E % Bt W B
9 K| AziE | TAl1OFE | 3 % | S¥OWRE, SR LE - 3%
10| & |k =
11| () | Kk =
12| (H) |k =
13| A |k =
14| k |k =
15 | K | A& | FAll OFF | & % | —MREM BSIEME 1%F~ 5%)
16 | K | A | PRl OFE | & % | —MREM ESIEME 6F~ 9%)
17 | & | A& | FATLOR: | 3 Y | —MEM (BSIEML L 0F~1 3%)
18 | (1) |tk =
19| (H) |k =
20 | A | AL | TATLORE | B W | EREER. ZEASMESE
21 | k | ZBS | FEil OB | ZESR | (iR MHEE
22 | K | ZES | Tl O | ZES=E | (Gt MbERE
23| A | ZBS | Al Ok | ZEAR | (itRIFHA
24 | & | K =
25 | () | &k =
26 | (A) | I8k =
27| H | K =
28 | k| A | FETLOKE | i % | ZERWE. HE. 7. RLE




